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FACULTY OF COMMERCE
B.Com. (Second Year) (Fourth Semester) EXAMINATION
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(CBCS Pattern)
ADVANCED COST ACCOUNTING

Paper 11
(MCQ & Theory)
(Monday, 25-3-2019) Time : 2.00 p.m. to 4.00 p.m.
Time—2 Hours Maximum Marks—40
N.B. .— (@) Solve Q. No. 1 on OMR sheet during the first half an hour.

(i1) Q. No. 1 is compulsory.
(iit) All questions carry equal marks.
(fv) Simple calculator is allowed.

() W1 % 1 & OMR sheet T TedEal AR, MG Ufgan 31 a9
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(i) 9T HUe 1 e o1
(tii) | YA GHM IO A
(Gv) Y TMURITS IR TE 3R

MCQ
1. Multiple Choice Questions : 10
g T
(2) In construction of a building which method of costing should be
used ?
(@)  Contract costing (b)  Process costing
(c) Operating costing (d)  Single output costing
AR AYHRMMS] TRATA= hI0 I§d aTaell S ?
(@ o IReIEA @) o= gierEq
(¢)  9R=EeH ARFI (d) TUhe IUEA TRIIA
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( 2) CZ—223--2019
Under contract costing ...........ccccceuuunee. balance of plant is debited and

......................... balance of plant is credited to Contract Alc.

(a) Closing and opening (b)  Opening and closing

(c) Only opening (d)  Only closing

3T GRE TEd T GESE s [lectd Sl S A1
WEﬁ ............................ I'\?IC'(’ich SRl ATl ST Ch("n T‘ﬂﬁ

(@ S ofifor SR (b) AR sTftr Yo

(c) W SR (d) e Qe

Over-absorption of overhead in Cost A/cistobe ..........cccoevvvinininnnn. profit

of Cost A/c in reconciliation statement.

(@) Added to (b)  Ignored from

(c) Deducted from (d)  All of these

IReqd el Afteare Rive & FHeE fHeseuil wiehmed aieqd

(@ TR faefad (b)  THEMUET g 3o
(¢) ~ THA IS el (d) oot w9

If cost accounting profit T 2,02,000, factory overheads recorded in cost
a/c % 18,000, factory expenses actually incurred in financial a/c ¥ 20,000,

then profit as per financial a/c will be ........................ .
(@) R 2,02,000 b) ¥ 1,98,000
(c) % 2,18,000 d) ¥ 2,00,000

SR UEad A AR % 2,02,000 3TE, T sifvem uiem aremmed
% 18,000 <rafaar, faiof 1faery faxiia eeamed € 20,000 Srafad, @ faxia
TEATTHR T fohdt 318 ?

(@ % 2,02,000 (b) ¥ 1,98,000
(c) % 2,18,000 (d) ¥ 2,00,000
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Operating costing is also known as ............cccccevuvnee. 3

(@)  Service costing (b)  Product costing
(c) Contract costing (d)  Process costing
W -q-ﬁa:l—q g} ............................ -j%-UE @a—@?ﬁ- \_ﬂﬁ

(@ 9o 9eEEA (b)  IURA IReEEA
() o1 uiegad (d)  faen afteg=q

If total operating charges ¥ 20,000 and total passenger km 1,00,000,
then cost per passenger km will be ......................... .

(@ ¥ 1.00 () 20 paise
) % 2.00 (d) 10 paise

SR TR e UReFd % 20,000 ST THU yered feRdt. 1,00,000 TeRt
i garsht gt R wmr e

(@ ¥ 1.00 ®) 20 %

(€ ¥ 2.00 d 109
...................................... is the verification of correctness of cost accounts.
(@)  Management Audit (b)  Financial Audit

(©) Cost Audit (d)  All of these
..................................... %» -q-ﬁa:l-q- Q"\i{?qrd‘” é‘l‘?ﬁl’)at{ FeISINE El')_{_?f

(@  HIEATT 3{eheyo (b)  TfeeR sfeharol

() URET STy (d) =t o

Unit introduced in a process is 8,000 units and units produced
7,550 units. Normal wastage is .....ccccccvveevveeeeveeeenenn. units.

(@) 400 b) 350

(©) 550 d) 450

T fasd F=ar T 8,000 T SR MU Feer e 7,550 A TR, Wi

(@) 400 (b) 350
(c) 550 (d) 450

P.T.O.
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1,000 units are introduced in process X. Normal loss is 100 units. If
actual output is 950 units, then there is ...........c..ccoceeeieinn. )

(@)  Abnormal gain (b)  Abnormal loss

(c) Normal loss (d)  None of these

e faer gfedd 1,000 T BRET HI0AE STl HERO g 100 T 3R,
K W&T W 950 T eﬂ@a, ™ a-a ................................... Wﬁ

(@  STHIERO oY (b)  STEERT FHI

(©  WHRW T (d) =TT AT

Method of costing used in undertaking like electricity, gas supply, cinema
house are known as :

(a) Contract costing (b)  Operating costing
(c) Standard costing (d) ~ Process costing
forst, 19 qRerar, FEERTe A SREA SR I shedl ST=a1 IReTd oneten
.................................. =T,
(@)  3H TET TGl (b) UREeE 9T ggd
(¢ w99 uRemd gsdt @) faw i gad
Theory

On 31st Dec., 2018 when the annual accounts of the SRP Constructions Ltd.
were prepared, the position of a bridge contract which commenced on 1st

January, 2018 was as follows : 10

Rs.
Plant purchased 60,000
Wages paid 3,45,000
Materials issued to site 3,36,000
Direct expenses 9,000
General overheads 30,000
Wages accrued on 31-12-2018 3,000
Direct expenses accured on 31-12-2018 1,500
Materials at site on 31-12-2018 4,500
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( 5) CZ—223—2019
Work done but not certified 12,000
Cash received (being 80% of work certified) 7,20,000
The contract price is Rs. 12,00,000.

Of the materials issued to contract materials costing Rs. 30,000 were sold for
Rs. 37,500 and materials costing Rs. 9,000 were destroyed by an accident.

The life of plant is 6 years and scrap value is Rs. 6,000.
Prepare contract account and work-in-progress A/c.

31 fedeRr, 2018 s TH.SAR.W. Hi<aed fd. =0 At en Jehea 1 STHar],

~ N LR a
2018 TSt ¥& ST T HEIHl Tele] Aifedt U aidl
I8 Sholcdl o=l SHRHGHET Wledled HIgdT 3UTs gldl ¢

%,

SRERCIE] 60,000
T A 3,45,000
SReR. Tt | 3,36,000
T 4 9,000
qa= Aty 30,000
3TeT TSI 31-12-2018 3,000
3T TAG = 31-12-2018 1,500
siereRETe feeot |\ 31-12-2018 4,500
ST e qed 12,000
T @ (JEIE SR 80% ) 7,20,000

IFM Jed 12,00,000 B

e Ursfaciean |rftient 30,000 . = 9mRR 37,500 %. fehadien faswt sheft ot
9,000 %. fRud=l At TUEMAE A ATl

I AT F@l 98 Sg STl STasie {ed 6,000 3%
dIRN b7

(1) ST

)  Toramu s

P.T.O.
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From the following data you are required to ascertain the cost of running

the Motor Lorry per ton mile :
Total milage in a week 900 miles
Total tonnage carried in a week 45

Details of the above are as follows :

Miles

Monday 180
Tuesday 188
Wednesday 165
Thursday 150
Friday 120
Saturday 97

900

Expenses for the week are as follows :

Driver’s salary

Cleaner’s salary

Petrol, oil etc.

Repairs and maintenance
Depreciation

Other expenses

Rs.
Rs.
Rs.
Rs.
Rs.

Rs.

You may assume one week in a month.

Tons

9.00

7.50

6.00

8.25

6.75

7.50

45

75 per week

40 per week
0.45 per mile
113 per week
7,200 per annum

75 per week
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o

Erelt fooiean Aifedi=a STUR TeRl HieR @RiEl 90 < ¥d dieqe @[ Jifed ol :

Tehl STdSdNdel THU deqeh Jard 900 el
T SIS THU dRqeh 45 <
el Hifgdl TURTATR Wiy H g 3T

)

e =
HHaR 180 9.00
TR 188 7.50
FHAR 165 6.00
TEAR 150 8.25
YEhAR 120 6.75
URELR 97 7.50
900 45

(aV (o (aV N
dQliel Hlodsildl e it HAHY 341% :

EIRCSCECRE %. 75 qfq smedel
IESRICHERE| %. 40 id 3Teael
U, A 3. . 0.45 g Hel

gkl ST wRu-greoy %. 113 9id 3fedsl
ST %. 7,200 9fq o
ECTERCL %. 75 9fd 3Medel

Tehl 3TIGeSdr=l Higd TR &% Ikl

P.T.O.
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Pawale Transport Company is running four buses between Nanded to
Degloor, which are 120 km apart. Seating capacity of each bus is 50 passenger.
The following particulars were obtained from books for the month of

April, 2018 : 10
Particulars Rs.
Salaries of Drivers and Conductors 9,600
Salaries of Office and Supervisory staff 6,000
Diesel and oil 16,000
Repairs and maintenance 4,000
Tax and Insurance 6,800
Depreciation 7,200
Interest 8,000

Actual passengers carried were 80% of seating capacity. All 4 buses run on
all days of the month. Each bus made one round trip per day.

Find out the cost per passenger per km.

Toes IFHUR HUAE 4 IHE e d LA W @Ie[, 9 I 120 feHl. o).
Tk S9HEY 50 FARN SHUGMET &THAl 3Te. Wiell fooiet Hifedt T, 2018 =
e -

faaur (qufyten) .

TG I HeEReld Aad 9,600
HEd 3T gIdehT™ daH 6,000
fega anfor siiga 16,000
e S wRodoy 4,000
e o fom 6,800
SELSEU 7,200
S| 8,000

YA AT 80% WA aTeqeh el Sid. W99 4 989 Ui Afedr =read. I
9 TWEN TH @Y H.

gfa vearent fwd. = el
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Or
(fenam)
From the following particulars, find out the profit as per :
(@) Cost Accounts
(b) Financial Accounts and
(c) Prepare a Reconciliation Statement.

For the profit shown as per Profit and Loss Accounts and Profit as per Cost

Accounts :

Rs.
Direct Material 48,000
Direct Wages 91,200
Selling Price 3,60,000

Works oncost is charged at 100% of direct wages and office on cost is charged
25% on works cost.

Actual work expenses were Rs. 88,000 and actual office expenses were
Rs. 59,800.

@eilel Aifgdiee THId STRUH Rl

(31) uied oen

(&)  foxitg wen o

(%) fodia cieargar ey offor afe.

AATTER fequr=an oo fHesaolt oM T faekor o) 4

%,
Tl QT 48,000
TA& " 91,200
fast foAd 3,60,000

TA TS 100% T sifyem e snfor faiolt o= 25% wafea
AT SATRN.

Tl it =< 88,000 T ST TIY wEi™ @™ 59,800 . B
P.T.O.
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The product of a company passes through three distinct Processes ‘A’, ‘B’
and ‘C’ to completion. The output of each process is immediately transferred
to the next process and the output of ‘C’ process is transferred to finished

stock : 10
Processes
A B C
(Rs.) (Rs.) (Rs.)
Materials 4,000 2,000 1,000
Wages 6,000 4,000 3,000
Work oncost 1,000 1,000 1,500
Units introduced (input) 20,000 units. Value of input Rs. 8,000 :
Processes
A B C
Output (units) 19,500 18,800 16,000
Normal Wastage
(% in input) 2% 5% 10%
Scrap value (in Rs.)
(per 100 units) 5 5 20

There is no stock or work-in-progress in any process.

Prepare Process Accounts.

Teh! SO Icared ‘31, ‘' Tl ‘! A i fafay fagqa 9R u=d. T fage 3aea
TS gH-a1 fa9e T Shvard a4 3T ‘&' fae= Seae Sifad whem™ s
ETS I G

faem
far’ ‘v’ ‘&'
(®.) (®.) (®.)
sl 4,000 2,000 1,000
S 6,000 4,000 3,000
Tt stferm 1,000 1,000 1,500
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TehehTal ©RGI (3AREM) 20,000 Theh. 3MEHET oI 8,000 %. :

IEEN
‘e’ ‘v’ ‘&'
3caeA (TH) 19,500 18,800 16,000
T &
(3T gider) 2% 5% 10%
g eI (3. HeA)
(X 100 THHM) 5 5 20

f¥Tecter A1 foran fomammmon =@ feaer wT=gq.

faen uftera e TR+
Or
(feram)
Write short notes on :
@) Responsibilities of Cost Auditor
(1) Rights of Cost Auditor.
greqra feqr foer
@) IReTT ST &R STETeRTl
(i) ~ URAT TheET MHHR.
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